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ZvE (km) = 10002K (m)
12Kk (m) = 100 JEXK (em)
1JEK (em) = 102K (mm)

LS

F4E = 365K

P4 = 366K

—4F = 1218 A

—E# =7X

1R = 24 /MR (h)

171K (h) = 60 438 (min)
1 78 (min) = 605 (s)

48

AT (kg) = 10007 (g)
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15 K (m?)
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10. A 4-digit code is composed of a 10. —{HwiEHKZEH - Ed—Emix

2-digit composite number and a Hey o n B —ERAEESE &
2-digit prime number as shown M, 0 e T B T o
below.

— R W v N
Composite Number Prime Number L2 I
Which of the following can be the VAT 18+ 4k 2 iE 18 S5 7% 7

possible code?

w5721 A 3%
B. 4319 B. 4319
@E=GT51 C. 3151
D. 2743 D. 2743

Price List of Juice

AHERE
Cup /# % | Volume (mL) /4 & (Z ) Price /& {§
Small / <> 350 $17.5
Medium / % 500 $23
Large / } 700 $26.8
11. According to the above table, how 11. 488 L& - A $268F % T w4
much juice can Joe buy for $268 at BETZ 0

most?

A. 8000mL A. 8000mL
B. 7000mL B. 7000mL
C. 5500mL C. 5500mL
D. 5250mL D. 5250mL
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HONG KONG ATTAINMENT TEST
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Pre-Secondary One Mathematics Mock Paper 1
TN E AR BRRE ()

Answer Sheet

A 2
Name of Student
AL (e
{English )

Section A (60 marks) You only need to write down the
letter preceding the selected answer.

{2 marks each}

FRER(60 %) B RAHE PEAENAEL
FAE o (FH25)
1. 11. 21.
2 12. 22.
3. 13. 23.
4, 14. 24,
5, 15. 25.
6. 16. 26.
7. 17. 27.
8. 18. 28.
9, 19. 29.
10. 20. 30.

R — ABTTEEN S BHY + Bl (hA)

Class
PR { )
For Teacher’s Use
2 em A
S=| |2
g |omlE 128 s
EEEE S %f&* §§ b
z |B®|E T [sm|<
fu” |
36%1‘5;\};*“* J{%'?;gl 1-15 [16-21(22-26]27-28{29-30
Marks
S
Section B
iy 31(a)
31(b)
32
33(a)
33(b)
34(a)
34(b)
335(a)
35(b)
36(a)
36(b)
37
[Sections &+ Bl Total
(PERTE) 43t
Grand Total
o3
LONG RIVER €2 EE5
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